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Quiz

Section: Balancing Chemical Equations

In the space provided, write the letter of the term or phrase that best completes
each statement or best answers each question.

1. In a balanced chemical equation, the mass of the reactants is equal to
the
a. atoms in a molecule. <. volume of the reactants.
b. atomic mass of the elements. d. mass of the products.

2. What coefficient is missing in CoH, + (2)0 — 200, + 2H,0?
az b.3 o4 d.5

3. Which of the following represents the word equation
‘magnesium + oxygen — magnesium oxide ?

CH, + 0, —CH,0, <. 2Mg + 0, —>2Mg0

b. MgO + 0 — MgO, d. 2CH, + O, — 2CH,0H

In the reaction 3CuCl, + 2A1 — 2AICl; + 3Cu, how many moles of Al
react with 3 moles of CuClL,?
a I mol b.2 mol .3 mol d. 4mol

5. In the electrolysis of water, 2H,0 — 2Hy + O, if the volume of oxygen
produced was 8 mL, what would be the volume of hydrogen produced?
adnL b.§ mL € 16mL d.24 L

6.1 you use 3 mol of O in the reaction 2Mg + 0, — 2Mg0, how many
moles of Mg are needed?
a 1mol b.2 mol . 4mol d. 6 mol

Give the mole ratio for the following equation: Zn + 2HCI —ZnCl, + H,
jEnY b.1:2:1 [REAE d. 1222

8. In the reaction 2K + Cl, — 2KCI, how much potassium (K, 39.1 gimol)
is required to produce 208 g of KCI (C1, 35.4 g/mol)?
5.4 8 b.156 g €208 gd. d.390 ¢

9. In the reaction 2H,0 —> 2H, + Oy, if you start with 4 mol of water, how
‘many moles of hydrogen gas are formed?
a 2mol b. 4 mol .6 mol d. 8 mol

10. Which of these equations is not balanced?
a Fo+S—>Fes <. 2Mg + 0, 2Mg0
b. KOH + HCI = KC + H,0 d. NaCl + H,80; — Na,SO; + HCI
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ANSWERS BELOW
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